HWK #6 SOLUTION
1.
(i.) The natural rate of unemployment does not change because the parameter a does not enter the relationship 1/(1/mu)=F(u,z). The natural level of output increases from Yn=(1-un)aL to Yn'=(1-un)a'L, where we have used the production funtion Y=aN and the definition of unemployment: u=1-N/L. 
 

(ii.)Given price expectations pe, the AS curve shifts right, intersecting a vertical line through Yn' at pe. The new short run equilibrium is at the intersection of the (unchanged) AD and the new AS curve. The price hase fallen, and output has increased to a level Y<Yn'. Because of the latter, we know that unemployment has increased between the initial and the short run equilibrium. Because actual price is lower than expected, the AS curve shifts out to reach the medium run equilibrium at lower price p' and Yn'. Unemployment has returned to its initial level. Employment shows the opposite evolution:decreasing in the short run and increasing back to its natural level in the medium run equilibrium. Consumption increases fron initial, to short run, to medium run equilibrium due to the increase in Y. Becauese the interest rate decreases between the equilibria as well (due to the decrease in price, shifting the LM to the right), investment continually increases as well.
 

(iii.) Globalization may produce a rise in a due to e.g. increasing specialization, an increased transfer of knowledge, or the the use of superior capital goods.
 

2. 
As in (1), an increase in the labor force from L to L' does not enter the condition determining the natural rate of unemployment. Hence un remains unchanged.  Natural output does increase to Yn'=(1-un)aL'. The effects are identical to those studied in (1).
 

3. 
An increase in the quality of unemployment insurance increases the bargaining power of workers at given unemployment rates. This correponds to an increase in z in our model, causing an increase in the natural rate of unemployment and hence a crease in the natural level of output.
Due to the the increase in z, the AS curve at given price expectations pe shifts left, intersecting a vertical line drawn through Yn' at pe. The short run equilibrium is at the intersection of the new AS with the unchanged AD curve. Hence output, employment, and consumption decrease and unemployment and prices increase as we move to the new short run equilibrium. The rise in price causes an increase in the interest rate through its effect on the real money supply, (shifting the LM upwards in the IS/LM diagram). The increase in the interest rate causes a fall in investment. These effects continue as the economy reaches its new medium run equilibrium at Yn'.
Intuitively, the wage increase for given price expectations due to better unemployment insurance leads to an increase in actual price. This reduces the real money supply, resulting in an increase in interest rates to keep financial markets in equilibrium. The resulting drop in desired investment leads firms to reduce output and hence the employment level. 
 

4. Globalization may reduce the level of z (because it reduces the bargaing power of workers faced with the threat of outsourcing) and/or the markup mu (because of increased international competition). Both effects lower the natural rate of unemployment and hence increase the natural level of output. The AS curve for given price expectations shifts right. At the short run equilibrium, output and consumption have increased, whereas the unemployment rate has decreased. The decrease in the actual price caused a decrease in the interest rate, increasing investment. These trends continue as price expectations adjust downward and the economy moves towards the new medium run equilibrium.
Intuitively, both the reduction in the wage demands and the markup allow prices to fall, reducing nominal money demand. Hence interest rates decrease, increasing desired investment. This leads firms to increase production and hire more workers. Subsequent downward adjustments of price expectations allow this process to continue until the medium run equilibrium is reached.
